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COMPUTER ACCIDENT TYPING (CAT)

FOR BICYCLE/VEHICLE ACCIDENTS

HOW TO USE THIS TRAINING MANUAL

The objective of this manual is to train you to classify or "type"
bicyclist/motor vehicle accidents. That is, each accident involving a
bicyclist and a motor vehicle can be classified into one of 44 accident
types. You will learn the procedure for assigning a numeric code to
an accident, given the information contained in the police accident
report. Given this code, a computer can determine the correct accident
type.

The training program contained in this manual was originally produced
in the form of photographic slides and an audiotape cassette. In that
form, it has already been used to successfully train coders in several
states and local communities. The slide/tape program was converted to book
form to make the program easier to use--you don't need a projector or tape
player. Also, this form makes it easier to refer back to information you
may want to review.

This manual is designed to let you read the material and work practice
exercises by yourself at your own pace. However, your supervisor (i.e.,
the person responsible for overseeing the coding of the accident reports)
will work with you. This is how you should use the Training Manual:

1. Read the information in each section carefully and do
the practice case or cases at the end. There are five
sections in the manual.

2. When you are done with each section, inform your super-
visor, but don't look up the correct answer(s) to the
case(s) yet. Your supervisor will go over the case(s)
with you. If you are part of a group of people who are
learning to code, the supervisor will schedule a group
discussion. You will review the correct answer(s) as
part of this discussion, and you will have the chance
to ask questions.

Remember: Finish each section and inform the supervisor. Please
don't work ahead to the next section until he/she tells you to do so.

Turn to Section One and begin.

 * 
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SECTION ONE

OBJECTIVE The objective of this program is to

Learning to Code teach you how to "code" bicycle-motor
vehicle accident information forBicycle/Motor Vehicle
input to a computerized accident

Accidents
typing or classification system.

 *

 *

2
You will be reading police accident

 *

 * 

reports and coding various kinds of
YOU: data within them. Your job is to

Analyze and Code "figure out" what the motorist and

the Accident Report *

the bicyclist did, or did not do, that
 * led to the collision. Then you answer

eight questions concerning how theTHE COMPUTER:
accident occurred, and your answer

Identifies the Accident
codes will be fed into a computer.

Type The coded information will enable a
computer to assign an "accident type"
to that report.

Before learning the typing procedure,
we should discuss why we classify
accidents. Accident typing fills a
number of roles in the development and

3,' evaluation of traffic safety programs.

Y "TYPE" BICYCLE ACCIDE
First, it enables a community to define

Define Accident Problem its accident problem. Rather than
having just a stack of reports, the

Develop Countermeasures accidents can be divided into types
that involve common characteristics.
Accidents are not random occurrences.

Allocate Community Resources
There are a number of patterns--sets
of common characteristics--which

Evaluate Countermeasures reoccur again and again. Each of these
patterns is an accident type. Classify-
ing or "typing" accidents enables a
community to determine the accident
types which occur most frequently in
its area.
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4 am

"TYPE" BICYCLE ACCIDEP T$
 *

{:` Deflne Accident Problem Second, studying the circumstances
that make up an accident type can

 * 
lead to a remedy or countermeasure

Allocate Community Re9oumis
to that accident type.

Pik 4. Evaluate Countermeasures
*

 *

The National Highway Traffic Safety
Administration has begun the develop-

 *

ment and testing of just such potential
countermeasures. Some of these sug-
gested approaches are now available

 *

for use by communities. Others are
 *

presently under development.

 *

 *

A third reason for accident typing is
that communities can use the relative
frequency of each accident type toWHY "TYPE" BICYCLE ACCIDENTS?
decide how to allocate community re-

1. Define Accident Problem
sources among various countermeasures.

2. Develop Countermeasures

 * If one type of accident occurs three
times as often as any of the other4. Evaluate Countermeasures
types, then a greater proportion of
the funding and effort should be
directed toward preventing that
accident type.

Finally, accident typing can be used
to evaluate the effectiveness of

WHY "TYPE" BICYCLE ACCIDENTS?
countermeasures once they are imple-

1. Define Accident Problem mented.
Develop Countermeasures

3. Allocate Community Resources *

Bicycle accident typing is an im-
portant step in the development of
an effective program to combat
bicycle accidents.
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The system we will be using to type

COMPUTER ACCIDENT TYPING bicycle accidents is called "Computer
Accident Typing" or CAT.

 * 

9 Computer accident typing involves a
aT o

coder reading a police accident report
and following through a list of state-

7=
.̂a a
3

ments in the Coder's Handbook to
locate codes which appropriately

MT" describe the accident. Code numbers
for these statements are then entered

* on a coding form and from the form
into a computer. The computer assignsO O
accident type numbers. As you code,

convn"Tn. u TTw n M. T".49 you will be referring back and forth
TdRW. T.* 0--" between the accident report and the

Coder's Handbook.

10

For this accident typing program, you
should have the following materials:
A Computer Accident Typing Coder's
Handbook, accident data recording forms

 * and a Practice Cases Booklet. Take a
few minutes to leaf through the
materials to become familiar with
their contents.

[STOP, review the materials, then CONTINUE]

1^ Now that you've looked over the
^wz materials, let's review them, begin-

ff10N REPORT

qw... _ 05 r ^
T̂F

ning with the sample accident reports.
These are actual bicycle accidents
that have been collected from police
agencies across the country. You will

,.£

' 3 a4.LS6 notice that different jurisdictionsF` J
use different report forms.

The sample reports have been numbered
for this program in the upper right-

r x "119 1 R- hand corner, beginning with report
77f! Txcv It number one.
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12 The Coder's Handbook contains four
parts: Introduction, Instructions for
Coding, Definitions of Terms, and a

awsTNte Ttores aiR coowc set of flip-up pages containing the
eight questions or statements that
you answer in coding an accident report.

The Instructions for Coding are on the
second page of the Handbook. They
provide a review of the typing proce-
dure. The first flip-up page also
contains a brief summary of coding
instructions.

13

__ uses tair CTK.lh B q
oesHrK'w Or reaMS_ ^

1

The fourth page contains definitions
of key terms used in the various CAT
statements. Be sure to refer to them
as you code. They are placed opposite
the flip-up pages so that you can

E) PnoMS refer to them easily.
 * 
2 A 3 PRMARY MUTtOM

4 OPEMATOR ACTIOM3

ALxOBfT ^' .,P.. -

mom

After studying the report the general
14 procedure you will use to code the

* 1. Motorist or Cyclist Intentionally Caused the Accident report is to read through the state-
* 2. Officer Indicated No Accident Occurred ments in order, beginning with State-
* 3. Accident Did Not Involve a Cyclist ment One, Exceptions. Notice that
* 4. Cyclist Was Riding a Child's Vehicle Such as a "Big Wheel" Type

Vehicle, Tricycle or Bicycle With Training Wheels (Not Adult
Statement One has six alternatives in

Tricycle) a box. They are coded one through
• S. Cyclist Was Struck by Falling Cargo five, and zero. Above the box con-

0. Unknown or None of the Above. taining the list of alternatives,
* there is a brief description to

If you select any of these alternatives, you are done coding the clarify what each alternate means.
report.

These explanations plus the definitions

1 EXCEPTIONS will help you decide whether an alter-
native actually fits what happened in
the accident.
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15 Statements two and three are contained
2 MoTOR13T PRNAARY ManoN

on the next flip-up page; statement
1. Backing 4. Turning Left two is called the "Motorist Primary
2. Stopped, or Standing S. Turning Right Motion" and statement three is called
3. Going Forward 0. gfgnown on gone of the the "Cyclist Primary Motion." They

are placed on the same page because
the alternatives under each statement

$ cvm PRAMA W MOTION are very similar.

1. Stopped or Standing, No Direction 4. Turning Right

2. Going Forward 0, Dokoow or gor of the Notice that the descriptions above
Aborg

Turning Left - .,_.r... .. ... _. .3.
 * 

some of the alternatives also contain
diagrams to help you better under-

PRIMARY MOTION stand the meaning of the alternative.

These diagrams, however, are only
example cases, and do not represent
all possible ways the situation

16 described by the alternative could
occur. For example, one alternative
you will see under a later statement
involves a motorist entering or
exiting an on-street parking space.
The diagram (inset) illustrates the
motorist exiting the parking space.
This accident type would apply

* equally well if the motorist were
entering the parking space, as shown
by the models. Thus, the drawings
are to be used as an aid, but should
not be considered as the only possible
situation in which the alternative
could apply.

17

Once you have decided which alternative
applies, you write the code number for
that alternative in the proper column
of the data form. With one exception

^qz that we will discuss shortly, when you
are done coding an accident report,

:u.
you will have recorded a code number
for each of the eight CAT Statements.

b ^i1C'n6,^`'

Before we begin coding, we will
1 ^

i briefly review the statement list.

[Follow along in your Coder's Handbook as the various statements are
discussed.]
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1s The eyeljntt vas not directly truck by a antor vehicle hot by
tease objc that on, tatl true the chlclr -S., a hub cap or

tflat, or by failing cargo, but not ceec thing (e.g., {unbar)
prole: ^,nj troy the vehicle.

` L. lb COr ire of Cyclist lateatignally Caused the Accident The first statement, "Exceptions,"
` 7. Officer tadioated go Accident 000ireod describes highly specific circum-
" 3. Accident Did Rot Into!, a Cyclist

stances that, in themselves, define
4, cyclist W• Riding a Mild'* vehicle Such s "gig Wheal" Type

Vehicle, Tricycle oe tricycle With Training Wheel. {pot Adult
It icyclc)

the accident type. If one of the

Cyclist Was Struck by Falling Cargo
alternatives, Codes One through

0. L k- or gone of the An-e.
 * Five, apply to an accident, you have

completed coding that report.

>tllJ[t any of IhEAa al[e rant iv ea, you are done coding the

le

19

Y
p W'" In this case, you will have only one

code number which will be in column
one of your data form. This is the
only time you will have less than

1 Z 3, eight code numbers on the form when
you have completed coding the report.

O?o^fP /

20

1. Motorist or Cyclist Under the "Exceptions" statement, the
first choice is "Motorist or Bicyclist

Intentionally Caused Intentionally Caused the Accident."

the Accident This alternative is to be used if
* either the driver or the bicyclist was

reported, to have deliberately caused
the collision.

21

 * When one of the operators is charged
with assault or vehicular assault in
the occurrence of the collision, this
alternative would apply. Even if

 * such charges are not listed, this
code can also be used if it is apparent
that, for example, a motorist was
attempting to run a bicyclist off the
road.
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This alternative is not used if a
driver or rider was careless or reck-
less and had not intended to strike
the other party, such as backing up
without looking behind their vehicle.

23

2. Officer Indicated No The second alternative, "Officer

Accident Occurred Indicated no Accident had Occurred,"
 * applies if no collision took place

between the vehicles.

24

For example, if a driver had a "close
call" with a young bicyclist and the
bicyclist rode away, the driver may
have reported an accident, unsure
whether or not he or she struck the
bicyclist. If the officer completing
the report concluded that no accident
did, in fact, occur, this alternative
applies.

25

The third alternative, "The Accident
3. Accident Did Not In Did Not Involve a Bicyclist," is to

volve a Cyclist* be used if the accident was not
between a motor vehicle and a pedal-
cycle.

1-7
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For example, if the collision was
between a car and a moped or motor-
cycle, this alternative should be

 * used.

27
The fourth alternative, "Bicyclist was

4. Cyclist was Riding Riding a Child's Vehicle Such as a

a Child's Vehicle 'Big Wheel' Type Vehicle, Tricycle or
Bicycle With Training Wheels, but Not

Such as a Big Wheel an Adult Tricycle," is to be used

Type Vehicle, Tri- whenever the cycle was not a bicycle
or adult tricycle.

cycle or Bicycle
with Training Wheels Any three- or more-wheeled child's

play toy which was being ridden by a
(Not Adult Tricycle) child would be coded under this

alternative.

28

The last exception, "Bicyclist Was
Struck by Falling Cargo," is to be
used when a bicyclist was struck by

5. Cyclist was Struck by something coming loose from a vehicle,

Falling Cargo as opposed to being struck by the
vehicle itself or something attached
to the vehicle.

For example, if cinder blocks fall
from a truck striking a bicyclist,
this code would apply. But, if the

*

bicyclist was struck by a side
mirror attached to the motor vehicle,
this code would not apply.
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30

The code zero (0) "Unknown or None of
the Above" will be used for the
majority of the accident reports.

Unknown or-Not Above This code simply indicates the report
does not qualify for one of the
exceptions. Record the zero (0) on
the data recording form and continue
to complete the remaining statements
on the statement list.

 * 

31 The second statement, "Motorist's
Primary Motion," is the motor vehicle's
direction of travel immediately before
the collision. You should indicate
whether the vehicle was backing, going
forward, or turning.

The third statement, "Bicyclist's
Primary Motion," has the same alter-
natives as the "Motorist's Primary
Motion" with the exception of backing.
There is no code for a backing
bicyclist.

*

32 Tura1n$

TII The last choice in both statements,
zero (0) "Unknown or None of the
Above" is shaded for a reason. This
shading indicates that you should
avoid using this code whenever possi-
ble. Go back to the report to assure
that you have not missed any informa-
tion. Recording a shaded "Unknown or
None of the Above" code often results
in the computer assigning an accident
type of "Insufficient Information."

The "Unknown or None of the Above"
statements which are not shaded,
however, can be used freely. This was
the case under the "Exceptions" state-
ment we just discussed.
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33

Under statement four, "Operator's
Action," is a list of specific actions
which either of the operators may have
performed just prior to the accident.

 * 

The first alternative, "Motorist and
Bicyclist Attempted Evasive Actions
Which were Counteractive," means that,
in an attempt to avoid a collision,
both the motorist and the bicyclist
turned in the same direction and
collided.

The second alternative reads, "Bicyclist
Attempted to Avoid Obstruction." This
situation involves a bicyclist that
swerved into the path of the motor
vehicle in an attempt to go around an

*

obstruction in the bicyclist's in-
tended path. This code applies whether
the bicyclist successfully avoided the
obstruction and was hit by an over-
taking vehicle . . .

. . or the bicyclist was unsuccessful
 * in avoiding the obstruction and struck

it.
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Obstructions include: People, animals,
potholes, debris, parked cars, or any
other object which would require a
change in the bicyclist's path.

38

Alternative Three, "Motorist Drove Out
3. Motorist Entered of Driveway or Alley," is to be used

Road From Driveway when a motorist entered the road from
a driveway or alley just prior to the

or Alley
 * 

occurrence of the accident.

39

This code applies to a motorist who
entered the roadway from a driveway or
alley, regardless of the position of
the bicyclist. This picture shows a
commercial driveway, but the alterna-
tive also applies to residential drives.

40

4. Motorist Entered or The fourth alternative, "Motorist

Exited On-Street*

Entered or Exited On-Street Parking,"
means a motorist was either. . .

Parking

1-11
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41

. in the process of pulling into a
parallel parking space when the colli-

 * sion occurred, or . .

in the process of pulling out of
a parallel parking space when the
collision occurred.

5. Cyclist on Sidewalk
Entered Road From The fifth alternative, "Bicyclist on

Driveway*

Sidewalk Entered Road From Driveway,"
applies when . . .

. . . a bicyclist was riding on the
sidewalk, turned at a driveway, rode
down the driveway and out into the

 * street. The picture shows two
possible impact points.
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45

The sixth alternative, "Bicyclist
6. Cyclist Entered Road Entered Road From Residential Driveway

From Residential or Alley," is similar to the previous
statement except that the bicyclist

Driveway or Alley
 * 

was not riding on the sidewalk prior
to riding down the driveway into the
street.

46

The bicyclist just rode out of the

*

driveway and into the path of an
approaching vehicle without stopping
and yielding.

47

The seventh alternative reads,
"Bicyclist Entered Road From a
Commercial Driveway," this differs

 * from the previous code only in that
the bicyclist rode out from a
commercial, as opposed to a resi-
dential, driveway.

The eighth alternative, "Bicyclist
Entering the Road Over Curb or
Shoulder," is used when a bicyclist
entered the road at a location which
did not have driveway access. For
this code to apply the bicyclist has
to have come from off the side of the
road at a midblock location.

1-13
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49

9. Cyclist Did, Not Clear
Intersection Before The final operator action is "Bicycli

Light Turned Green
Did Not Clear Intersection Before Lig
Turned Green for Other Traffic."

for Cross Traffic

50

This involves a bicyclist who entered
 * an intersection on a yellow light, or

at the end of the green phase.,,, IIV

51

As the bicyclist proceeded across the
intersection, the light changed to
red for cyclist, green for cross

*

traffic. The cross traffic accelerate
forward, striking the bicyclist who wa
still in the intersection.

52' C=_./j

ist Attempted 6. Cyclist Entered Road From
high Were Residential Driveway or

Al icy

to Avoid 7. Cyclist Entered Road From
a Commercial Driveway

The "Unknown or None of the Above"
of Driveway S. Cyclist Entered Road Over

Curb or Shoulder (Midblock) choice is not shaded, and can be used

Entered 9, Cyclist Did Not Clear Inter- freely if none of the listed operator'
section Before Light Turned actions fit the report.
Green for Other Traffic

Entered

O, unknown or None of the
Above

st
ht

d
s

s



Parking 4,t nr Orh er non-Im,aavay 5, tnt u¢au

c rnn Controlled by a
s,anai

        * 6, M4dhl.,ck

0, v^ ..r tloy. of N•

Znr er aeerion Coarrolted by

        *

        *

I. Inreraec ti nn, Nn Control

The fifth statement, "Accident Loca-
tion," is the location of the point

        * of impact between the two vehicles.

LOCA►noN         *

t' ^ark.•nx Lot of tYr her "WAV $, 4nteraa -t,

Y;,c<r s r ci,.n CO nNrulted hr •
        *

h. 0 lh
s,g„at

^. tnrar,^^t.,. ^_. The first alternative, "Parking Lot orzrall<d hk eStan +,xn Other Non-Roadway Location," is to be
4. lncxra.tc ,on.. !ia _nC rpT

        *         * used when the point of impact was not
in the road.

The next four alternatives involve an
accident which occurred at an inter-
section.

5 ACCIDENT LOCATION

55

If the point of impact is on the road
        * within the center of an intersection,

that is, anywhere in the shaded area,
you would use one of the intersection
codes.

        *

        *

        *

        *

Also, if the accident occurred in a
marked or unmarked crosswalk, an
intersection code would be used.

        *

        *
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57

mc.^
Before you use an intersection code,
you will have to determine from the

f611 *4 by 6 6. Xlekloc^ accident report if the intersection
was controlled by a signal (Code 2),
stop sign (Code 3), or nothing at all
(Code 4). Code 5, "Intersection
Other," is used for yield signs, other

 * control devices, or if'you cannot tell
from the report what kind of control
this intersection had.

If the point of impact is outside of
the crosswalk, then the code to use

*

is Code 6 "Midblock," even if the
accident occurred only a few feet
outside of a crosswalk.

 *  *

The sixth statement, "Initial Approach59
Paths," involves the paths the motor
vehicle and bicycle were on as they

FARAUEL PATHS cAoss94G PAnG approached the point of impact. As
2. Sae D^r..^^ , C..cli.t Ove:cwkitt& 4. CVc1 -. a. ght-vfway

you see the statement is subdivided
Y. .,ar o; re<t ^ , ^.. eaf L oy rtakxog 4. tint *fi.[ gsahi--f 41 into three alternatives that involve
^. yaciog ApRf^uh parallel paths, two that involve

crossing paths and the "Unknown or
0. LMknam or Mime of Nk.

 * None of the Above" alternative.

Note that the "Unknown or None of the

INt _ APPROACH PATHS Above" alternative is shaded indicat-
ing that you should use it only as a
last resort.

60 y wF:l Jr+9^^

!I.w ..^^•

....'4
.fL.^w ♦

a4 If themotorist and bicyclist were

^ ^F both heading in the same direction,
 * their paths would be considered

parallel.
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If the motorist and bicyclist were
heading in opposite directions,
facing each other as they approached,

 * their paths would also be considered
parallel.

r »J

A4RA(.I,EL RgTN$ CROSSM PATHS

If you decide the paths are parallel
1. Stew t tr..¢inn, 5iz l_et tlva [4 ak^nq 1. C111-1

and the operators were moving in the
2. Stess Gi r,iiii, , Mrat 21J 3 twrrcuk inp. 5, {y..:r.elvt kioe,

3. PACing Appruaoi
same direction, then you have to

*

decide which of the operators was
Unkna.n ..r N... ( 1k.
Ab- overtaking the other.

6 INITIAL APPROACH PATHS

When both operators are heading in
the same direction, the operator
approaching from the rear, and moving
faster, is considered overtaking.
The overtaking vehicle won't always
be the motor vehicle. In urban areas
particularly, it is common for
bicyclists to overtake slow or
stopped motorists.

64

Of course, if their approach paths
 * are parallel and head-on, then

Code 3 "Parallel Paths - Facing
Approach" would be used.
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65

You should not consider turns when

lowE:=LA moo" determining the initial approach
qb 1VMMMMMW 4W paths. For example, these paths are

considered parallel because the
 * operators were initially on parallel

paths.

i

The next two alternatives under
t: Bawe EM, cC^ m, Cgc1» isc cv-tak-x 4. Cye - At Rttt-rsi-V.p'

"Initial Approach Paths," involve
' ^-. b'SYmo ^c..^i^rt. "__tbt^xt thrMrL eA{ng 4. Hot Rri nt Yt{a^+t rn-F-4ix7' those paths that are crossing, with

either the bicyclist or the motorist
*

A, lnkrro^tn or '.iane uS Chs
having the right-of-way. If the
initial paths were intersecting at
a right: angle or any other angle,
the paths are considered crossing.

6 INITIAL APPROACH PATHS
7 90 .^ DA1: D 9:120M

67

Once you have decided the paths were
crossing, you must determine which
operator had the right-of-way. If
one operator was at a stop sign or

 *

red light, then the other operator
had the right-of-way. The truck
has the right-of-way in this case.

68

If an operator was entering the road
from a driveway or alley, the right-
of-way belongs to the operator al-
ready on the street. The bicycle

 *

would have the right-of-way on this
picture, so we would use alternative
four, "Crossing Paths, Bicyclist
Right-of-Way" to code this situation.
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Test yourself on this frame and the
next to see if you understand the
idea of initial approach paths. The
answers are at the bottom of the
page.

 * 

How would you code this initial
approach path?

*

What initial path code would you use
in this case?

711
7 MOTOW ON=

1. ....i,..r .i.eel 6. brining o. Wrong sit.
of the Str..t

2. oi.)d..d fee.i.g swee
7. Lost Control

The remaining two CAT Statements,
3. hill to D.t.et c/eli.t-.topo.d

or bt.dlag tr.ffit S. Failed to D.t.[t Creli.t, seven and eight, involve errors or
Other .ee.w

4. taint vide w litho Tara
D. Dnknove or No.. of Co.

violations that either the motorist
5. Co. Carer oa left Torn Above or the bicyclist made. Again, these

statements are on the same page
$ CVM OWM because several of the alternatives

1. U. sign or Signal 5. tiding w 5rwg Side of are the same under both statements.
Street

It. t.iog Wide on tight Tons
6. Loss Control of Cycle

3. Cue Corner on Left T...  *

D. D.k..n or son. of the
6. Struck . e.rk.d Whitt. Oboe.

72

For example, if either operator fails
to obey a traffic control, such as a
stop sign or a red signal, the "Ran
Sign or Signal" alternative, Code 1
under each statement, would be used.
In the situation pictured, Code 1
would be indicated for statement
seven "Motorist Error."

 *

11'"M-3o-4g2T2i 4sTToAoTg 'Sq d 2uTssoz3lf */ aPOD -- OL amUld
,1 gouo2ddy 2uTos3 6sqwwa TaTTezEall f apoa -- 69 amra3 :aze saamsuu aql
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731 1

Ran Sign or Signal S. Owning on W
of the S--

Mi.judged P•..ing Spoon

7. Lo.t i'nrarat
P.ilce ro Dcae.t Cyciin --Smpp.d
or wand irl ;x•:afyj¢ 8, Failed to Dec...

Other Ronson "Swing Wide on Right Turn" is an
-dta. swi

Vide on Right Torn

5. 0. unknown or tone of the
Cut Corner on Left Torn ghv. error either the motorist or the

bicyclist could make and is, there-
 * fore, found under both headings.

CICLIST ERROR

1. Ran Sign or Signal S. Riding on Vronq Side of

SC Cret
Swing Wide on Right Turn

6. Lo.t Control of Cyot4
J. Cut Corner on left Turn

74

The code is used when an operator,
* the motorist in this case, . . .

75

. . . or the bicyclist makes a wide
 *

right turn causing the collision.

76

aaaaa, v

rry
 *

9 Similarly, the alternative "Cut
Corner on a Left Turn" can involve
a motorist who when making a left

 *

 * turn, turns too soon, cutting into
 *

the oncoming lane . . .

 *

 *
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77

. . . or a bicyclist who does the
 * same thing.

78 [7 MOTOF4Sr ERROR

U. sit. or Si 6ort - 6. Oiiv4g4 nrt Ni nn. Sid.
o E'efiv Si resc

101.1,Mg.o P...i., Sp-
^ 4.

7. Lon Coftrot
7-41W to D..I Cyclist--5.apgrd
¢ It."-, Tr.f Cic A. 1.il.o to L.t.cr C<ii.t,

OCUn R,r..O The "Riding, (Driving), on the Wrong
,j[iIi W4. on 1i[6t T.ro

"'- * D. Unkaoxn or Nod., o! 1147 Side of the Street" alternative
QOrM[ An :.fl Tern Ab-

y-'V means that the motorist or bicyclist
was on the wrong side of the street.

.-eiairy oN ^s^.

scrut ^
-;: 7^FRw•

p- 6. Lorc f4oCr0.1,^pt..

79

 *

That is, he/she was on the left
 *

 *

rather than the right side, or . . .
 *

 *

 *

80

 * . . in the case of a one-way
street, the operator was going the
wrong way.
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rORW ERROR81117

1. R•^ Si R++ nr SecdOk 6. D i „ K Si-f.•

2. H 1 ^dgen ., So S non .. ^

:,n
3. F 1 A to ^ 1 .-. F(ac--3roPpa •>^ The "Lost Control" codes are to be

4. Sni ng 4i.i^ .n r.i.I t rut.
used if either operator is reported

5. Cut Corn- ..x.11 Torn r*nw.-
to have lost control because of
mechanical failure, road conditions,
prior collision, operator impair-

8 CNCUST ERROR
ment, or operator error.

1- ran Sign or Signal 5. Aiding on Wrong Sid, of
S1 -1L

I, S.,int Wide on Right Tarn
"^ ^ 5. Lost Cunt ro{ of Cyci,

82
In order to apply, the loss-of-
control had to precede the accident
and cause it to happen. In the
example shown, the motorcycle hits
a parked car, goes out of control

 * 

and collides with the bicycle. If
a bicycle was struck by a car and
went out of control as a result of
the collision, the loss-of-control
did not contribute to the occurrence
of the accident and this code should
not be used.

In this example, a bicycle hit a pot
hole and the rider lost control,

*

striking :a vehicle. The "Cyclist
Error, Lost Control of Cycle" alterna-
tive applies.

84 7 M010R18T E OR

1. 6. Driving m wrong Sid.

of the street
T. 111.jdpd Pwi.t Spa.

1. Lou Mattel
). Piled Co Dentt C yeli .t--St0pp.d

or St ending T.,$11 . s. Piled co Detect Cyclist,
other 1.eeoo

4. Svtni Yide an iiiht Too. - There are three alternatives, codes
the

Co-, on
 *

0. Unknown or 110.. of
S. Orr Left T6- "I Above 2, 3, and 8, that only occur under

Ran $is* or "a",

the "Motorist Error" statement.
$ c*ct ER R Let's review them.

1. Na, Sig. or Signal 2. Rid ing .o Wrong Sid. of
street

2. Swiss Hide on light Tura
6. Lost Control of cycle

3. Cut Co-.r o. Left Turn
0. Oak- or Do.s of the

4. Struck . Parked V.6i.1. Above
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85

The "Misjudged Passing Space" alter-
native is a situation in which a
motorist does not allow enough space
to overtake and pass a bicyclist or
the motorist pulls in too soon after
passing. This motorist error
typically involves a bicyclist being
struck by the right side of a vehicle
or by the right side mirror.

86
Code 3, "Failed to Detect Cyclist --
Stopped/Standing Traffic," is used
where traffic--stopped or standing,
but not parked--blocks the motorist's
view of the cyclist. In some cases,

 * 

a vehicle, the truck in this picture
will wait for the bicyclist but will
block the view of a vehicle in
another lane which continues into
the intersection striking the
bicyclist. Code 3 is used in cases
like this.

87

Code 8, "Failed to Detect Cyclist,
Other Reason," will be used whenever
the report indicates that the motor-

*

ist's vision was blocked by other
physical obstructions. This includes
shrubs as shown here, buildings, or
parked cars.

88

In addition to physical obstructions,use FAILED TO DETECT CYCLIST, OTHER REASON:
you will also use Code 8 where the

0 report indicates that the motorist
• physical obstructions (not stopped/standing failed to detect the cyclist due to:

traff ic) darkness and no light on the
 * bike

• darkness - no bike light
motorist inattention or
carelessness

• motorist inattention
the motorist's having been
drinking or under the influ-• motorist under the influence
ence of drugs.
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891

e W,cr.t

_ y .. tl,kc Tsi.

.. L.M Tar. y,.a.
ti

There is one alternative, Code 4,
^_^". ^.

8 CICLdT ^1f1Dq ^- •. "Struck a Parked Vehicle," that
only occurs under the "Cyclist

^• k' ^'• ti.. ar /S,..j •.•--^_•-._•JS. i(!iy m Yawl .IN el
 * 

Error" statement.
t .sstt s1 .[ COtt.

I .. Loft Sacs
0. 0,ka.,as of ...e et tR.

N tack . t.tt.4 V.b,cl. Abcs.

L_748 OPERATOR ERROR J

90

This code is to be used if a bike
collided with an empty parked
vehicle. Do not use this code if a

*

bike hit a stopped or standing
vehicle with a driver inside.

91

Now that we've reviewed all the codes
on the form, we'll go through the

A L C, 1 1J F^ I ..
esoOr ^' coding procedure for an accident.

 * Turn tothe first report in the
40 Practice Cases Booklet, and read

through the information on the
k.. ^ i accident report.

./'
j -

[STOP, read through Report Number 1, then CONTINUE.]

92
 *

The first page of the report contains
the time and location of the accident

 *  *

 *

along with the names of the involved
 *

 *

FLORIDA TRAFFIC ACCIDENT REPORT parties. Since we are using real
accidents, we have blocked out certain
information to preserve confidentiality.

YIFYY *

From the first page, we note that the
accident happened at 2:10 p.m. (that
is, during daylight) at the inter-

 *  * section of Cloverlawn Avenue and
Carlton Drive. Shrubs are noted as

 *  *

an obstruction to view.
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93 C.Y: eon Dr.^ '
The second page contains a diagram and
description of the accident. The

Gtovarln*n Avenue
\___.^.-____. motor vehicle is referred to as vehicle

number one and the bicycle as vehicle
1 number two. The narrative reads

"Vehicle Number One north-bound on
Cloverlawn Avenue. Pedalcyclist east-

 * 

bound on Carlton Drive passed stop
sign, riding into. path of Vehicle

-Yn6lp1i a1 Mcr - ctnt oa CLs c-'wo Are:cc.. Pnio c t;,e'. br.t-^a T1^Q Sds1S2n..

y M_1lop . 1 c n -1Clnyj I n - ^ > y;wlli of v < ' . t l c l . u1 ce q VRtil C A I _ ! 1 - 1 . 9 - .
Number One causing Vehicle Number One

r.eelcr ,l.= to strike pedalcyclist in the right
side with front."

The diagram shows an intersection
with a stop sign, shrubs and the two
parties colliding.

95 'WHAT VEHICLES WERE DOING BEFORE ACCIDENT

VFnI[I[N,.lgslu.ehry ®[] q a._Cloverlaw.. Ave...

VENftL^0^7q^1e.tIME q ^®q a..Carlton Dr.............
V.k" M Note that in the section titled

I RED. I T 1 "What Vehicles Were Doing Before
®GomE seaghl bIf0 q q M HME 1N1il hot Accident" the box "Going Straight"

q q 0se11Ni1K q q rabies hill two c
* is checked for both operators.

'WHAT PEDESTRIAN WAS DOINO Ablyq Also, look over the other boxes and
PIDES1111Af1.., plef$ Auna.. IFY.........................

1.i.... -1 q q q q q. . a . 1%...1,..., wo-f M.1 the "Fill in the Blank" items for
q Dogs., al MMnechon 0 kewd into pelh of Vehicle q G°M1 additional information.
q DnsMt am of hnenallm in reae.Aq SIae01Iq 13 X11

q stool., in IOae.oT - nib 11,11 q S'oo of M LIeM ten q P.tH

q home M 11ue. es - eepnsl herlK q LY1ne Of S11h.e on 11Me.ry q 00M

 *

This is how the accident appeared
using models.

 *
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97
1- or -1 11", +cd th+ AGGiAent Now that we have a basic understanding

Ft, 1rt11 i^Y^•.• So A(.. :.tr :+t i-_..^rr ed as to how the accident occurred, we
turn to the CAT statements and begin

1 tiaa Hi Ling a Cnild'. V<-%;"^ »ch a. "Sir ?v pc
e, 1 ,,.I,: 8irycle W- r. n, .,g La e.t^4t with the "Exceptions" statement.
le)

W.. si ru.e by Palling Corp.
The first alternative is "Motorist or

n .^r no of Khe Abava^̂

L. Bicyclist Intentionally Caused the
Accident." Although the bicyclist

K„ort
If yo, select soy of tha.e • ternlatives, you are done ending, the ran a stop sign, we have no evidence

that the bicyclist was attempting to
be hit, so we continue.

Ap.

98 ROAD WR"ICE 1 Lnrtlq
-i _

"Officer Indicated No Accident Oc-
curred" also does not apply. The
officer does indicate that an accident

ra occurred. The bicyclist was injured
and went to the hospital by ambulance,' Y ittle Memorial Hospital
so we would not use this alternative.

r..
Norge

,1f MAIK Cl^J

99

The third alternative, "Accident Did

3. Accident Did Not In * Not Involve a Bicyclist," is elimi-
nated by referring to the first page

volve a Cyclist of the report.

100titt"I"

AR MAKE TYPE (Selo!. TPMtA,

InK Roadmaster* Bic cl The type of vehicle is listed as a
bicycle.tie pwi

StaN
t 0 WOW (Uabd+ry )y)

FULL *t)
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That information also eliminates the
fourth heading, "The Bicyclist was
Riding a Child's Vehicle, such as a

 * Big Wheel Type Vehicle, Tricycle or
Bicycle With Training Wheels."

Cyclist wa -; t.
..

The final alternative, "Bicyclist Was
Struck by Falling Cargo," also does

*

not apply, because both the diagram
and the narrative indicate that the
bicyclist was struck by the front of
the vehicle.

103

w3GOwo^M.

^Ml Since none of the specific alterna-
tives apply, we use the zero (0)

 * "Unknown or None of the Above" alter-
native. The code zero (0) is written
on the data recording form.

104

!. Mckiai 4, T--9 1--ft

!. i.D►N4. .r St.nd,e^. S. Tut ni n. A^.ht

4►..w We continue to the second statement,
"Motorist Primary Motion."

 *

The first choice, "Backing," is not
- af' fe.edi.$, $0 D r. Lion ♦, T.: rr.(w. ti nAt-R suggested anywhere on the police
^:lydnt report.

t.^ c.rc
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105

2. Stopped, or Standing The next choice, "Stopped or Standing,"
is ruled'out because . . .

 * 

106 'WHAT VEHICLES WERE DOING BEFORE ACCIDENT

VENtcI FE e.. I s h..ellep t D O Q a..Cloverlawn Ave.,,................

r..^h..eteq.: 0 ®^ a.. Carlton. Dr.............

V-.. - V.F1.1.

I FED. T . . . on the second page of the
© ® Coln, Sbight stand I tight fuel report, under "What the Vehicles Were
0 0 Dv mitip 40NOPIN'W'SwIthain 06C

Doing Before the Accident," both the
'WHAT PEDESTRIAN WAS DOING 0 Al car and the cyclist were reported
PEDESIRIAN.s silg 0000 Ma.,t II ints .........................q

1,.w11 -1 Is +.Y. Mq...r +li
w . . . to have been "Going Straight Ahead."

0 Ge1941 at Mt,riechon 0 Step* Mro Plitt if VNMCN 0 Cott

0 C.o,tlnp net IMeneCI, 0 SIVA'" is te.dwq Nd

t.thinp to tail.., - "IN ha sc Sta dlep M Llety low 0 P.510 0
gMnp 01111111681 - .pnmI h.!I0 N Lying of Shop on tad-.y0

107 2- MDTORfST PWAWY MOTH

L -. e. skint i. Lte

2. Stopy.4, or 5t.o4 i,yt S, 41 t41-

J. Coin. eorv.r4 ,. 14.w1... 1"' Therefore, the next alternative,
T`-4 "Going Forward," applies to this

report for both "Motorist Primary
CIrL ST PFWAAFIV E14101TIDN

Motion" and "Bicyclist Primary

1. i ppa4 oT K.nd i.t, No Dir.<t ion 4. T\.ro inR ts.hc Motion."
t, >DDI.j 1b[wr1.

WT*N

108

•.CIDENT O•T• PEGORD1N0 t*

So, a Code 3 is recorded for the
motorist and a Code 2 for the

,•:.: , 11 2 3 4 L 6 8 I

bicyclist in the second and third
columnsof the data recording form.
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109

The fourth statement, "Operator
Actions," is to be determined next.

 * 

The first alternative, "Motorist and
Bicyclist Attempted Evasive Action
Which Were Counteractive," does not
apply. Neither of the operators was

*

noted to have attempted evasive
 * actions such as that shown here.

t. MMM(.. ..4 Cf.tl., A.c0...w t. cyst a.a 0.a.,,4 ..04 P,fl
 *

The second alternative, "Bicyclist
). C>.l,.I 1..0.04 W4 hA Attempted to Avoid Obstruction in

^• N....^.< Pra.. Mc of O.,r.w.
.r .1 t.T

Path," does not apply to this report.
4. Maia.. C.,a.e w Caerae The bicyclist is not shown swerving,

m Mt... L.(M ^.

nor was the path described as
S. C}.Ita a. 3s lrv.R F..<rr.A

a. u,.a^. ur •.,.. oe :e.
M o+. obstructed.

4 OPERATOR ACTIONS

112'

Alternatives three through eight do
not apply to this situation, as both

^, `4tA•`/J^^/,\^v
 *

operators were already on the street,
^..,e 'r }y,•la., tw.ai o.k)

8.
R f^taiad 9. .• •<,D,`e .o Cls+r Int.l^

not entering the roadway from on-
.^^ =<rr^! Y., ♦

street parking, an alley or driveway,
5^ S lk 9.r.. ne

N .,t P. .,.v.y tl. ^^' +^ .f Mon. oY tM• or over a curb.

4 OPERATOR ACTIONS
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113 1

Finally, the last action, "Bicyclist
Did not Clear Intersection Before

)• . ,.re ,t.^ ,.! DW: vc.ny rc a ^+.x
o < Light Turned Green for Other Traffic,"

does not apply because this inter-

Cyct section is controlled by a stop sign.
Read Ir,» a^,+.,..... _. .,a.o _r fluent of tt..

4 OPERATOR ACTIONS

114

*CC10ENT DATA RECORDING FORM As none of the specific operator
actions apply, the code zero (0)

 *

Na`,swia - y 2 3 4 5 6 7 8 ,„.-^ * should be used. It is written into
the appropriate space on the data
recording form.

 * 

*

115!
I. Parking datay 5. to<^: ar i<. ^... r

SRtera UCYlanpnC Lg11BH by a

Sig6a1

il. lkiknow or Nun• n! c
Intetecetian CdarrOtted by a A'' on
Stop Sig. On to the next heading: "Accident

4. 7Rtervect Lon, N6 C6ncr©I- - Location." This accident occurred
at an intersection with a stop sign,
so we read down the list of alterna-

 *

tives until we reach alternative
three which is the first one that
applies. Code 3 should be recorded
on the data form.

5 ACCIDENT LOCATION

116

PARALLEL RUM J CROSSM MHS

1. Same Direction, Cyclist Overtaking 4. Cyclist Right-of-Way

2. Same Direction, Motorist Overtaking 5. motorist Right-of-Way

3. Facing Approach The next heading is "Initial Approach
 * Paths." First, we decide if the

4. V h_-sam. of the

As- paths were parallel or crossing.

6 INITIAL APPROACH PATHS
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117

This report is pretty straightforward,
we should agree that the paths are

ff crossing.
{^ mowk

118

PARALLEL RjQM CROBSNG RUNS Given that the paths were crossing,
we must decide who had the right-of-

1. S. Direction, Cyclist Overtaking 4. Cyclist Hight-of-Way
 * way. Since the cyclist had a stop

2. Sm. Direction, Motorist Overtakin S. Motorist Right-of-Way
sign, the motorist had the right-of-

3. ?acing Approach

way. So we choose Code 5, "Crossing
0. D.eeo.. o< N... ./ Vaij Paths, Motorist Right-of-Way."

46-

119

ACCIDBMr CATS, pfCarDIMQ 70,50

-Ga

We record a five on the recording
2 3 4 5 6 7 8 form and . . .

120 ER
1. tae sign er signal 6. Drill ot on Wrong Sid.

F7
of the Street

2. Mi.j ds d ra5.iog Syea.
. . . continue on to statement number

7. Lo.t Contra
3. Failed to Detect Cyclic-Stnpp.d seven, "Motorist Error" and number

Sr 5tending Traffic railed to Do Oct Cyclist.
015.7 r....

6. Mug Wide en Sight Tare
eight "Cyclist Error." The report

* 0. mk..en oc It.. at U.
3. Cut Corner on left Pue ghee. indicated that "Shrubs block view

completely." This can be taken to
8 cct r mm mean that the motorist's view of the

1. tan $ism or Signal 5.
cyclist was obstructed, so we select

Kid ISO us Wra.a Side of
Str.at

2. S.Ly Was o. sign. Ta.. Code 8 under "Motorist Error."
6. Lo.t Ooetrol of Cycle

3. Cuc Career oa left 14c.
0. Ovk.... or Saes of ch.

k. Struck a Parked Vehicle .hov.
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121

The bicyclist was cited for "Passing
a Stop Sign."

122
Y ♦ nt as. 4...t

H.w. ..... ....a

^- eiiN to O., ,r

w >t.M [w. f.. S(, ^^
â . .li+e xe Al .e< C:fti \.a.

nY r Ala....
s. ^'.K v.Ae » .z Roc T„^w

C:1.IBT l w4m
We would call this "Ran Sign or
Signal," and record Code 1 under

t.
 * "Cyclist Error."

♦.. W.. wr.i .! qaL
1. o.. c.r... ,. tr. tvrs

$ OPERATOR ERROR

123

ACCIOCNT OATA NECONOINC coma

o a 1 1 2 3 4 S fl 7 8 1 2 3 4

The final code for report number one
is 03203581, as shown.

*

The procedure we just went through is
the one you will use to code other

124

C accidents. As you code, remember to
CAT CODING PROCEDURE review the statements in order and

use the first code under each state-
ment which applies to the report.

• Read each statement IN ORDER. Avoid using the zero "Unknown or
None of the Above" codes which are

• Refer to the supporting information above the shaded.
statement.  *

When you have any questions concerning
• Select the FIRST alternative that fits the facts.

the applicability of a code, read the
description of the alternative above• Enter the code on the data form.
the statement and review the defini-
tions page.
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125

FLORIDA TRAFFIC ACCIDE Now turn to report number two and

^^ Y Via r.^
code the report on your own.

R I:

'H.¢Ctlt /wn.Irv. ^r^, IL --••»•

Arm
75

.ûMln tk a. T' ^

s.
Sohn .„. rn..e ^ ^ IF1. 7$ Vnknavn ~ _.,

[Enter the report number on your coding form, code the report using the
above procedure, then STOP. Inform your supervisor that you have completed
Section One. Please don't go on to Section Two until instructed to do so.]

 * 

*



SECTION TWO




        *

SECTION TWO
126

FCC40EP*T OATH RECOROIMG FORM The codes for accident report number
two should be 04206185, as shown.

 * Let's review the report and each of

the codes.

127 FLORIDA TRAFFIC ACCIDENT REPORT

3-31-75 Rondyi 9:00 F

rPlea rroy ra.
Pr^rt 1 2

_ •s ®^: . ono , -^

M'" Noneyeuekie I^ne "' •"-••• ^•^~

75 o®On , Holly 11111 Lane
*

I First, the police report indicates
that the accident occurred 75 feet
south of Holly Hill Lane on Honey-

1969 Pord CoacR
FL „75 Unk na

y D N Di OM`^^
suckle Lane.

1 Drly ^r^
DNA

O.
a Drlrer wm. i---

iAI^^

-
rlre ^°

le . 1-1 , 0 0

128'  *

'rile 3 -1
 *

,,e
 *

 * The narrative states that Vehicle
 *

 *

 * Number One, the motor vehicle, made
 * a left turn striking the bicycle,

 *

 *  *

Vehicle Number Two, which was
trying to pass. The diagram, as well

 * as the box checked as "Making a Left
Turn," support the narrative.

c'y Su
 *  *

 *  *

129

 *
This is how the accident situation
is modeled.

2-1
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+ I. motor"A' !•wveli>.^_[ lot ... A(It Caused the Aceiicnti

Y offlc-X-l i.6a[rd l4- A.,[ild,r5 ..'carted

• 5. Ac dcn id Nor Involve A Cy I

A 4. .e fist Hiding A Chi y Vhcel" Type
C h...e
Tr icyele or Hic to -^e.. * ,K Y)^er1. (Hot Adult We begin coding with the "Exceptions"

* 5. Cyciiar Ito Strock by Falling nrva
section. None of the exceptions

0. Onknrnm or Race of the Above.
listed apply to the accident, so we

 *  * code "Unknown or None of the Above,"
* recording a zero on the data form.

I( you .elect any of cheer a:r.... [ives• you Are 40.e cOding ['11
report,  *  *

EXCEPTIONS  *

131 •w[4AT vU JClfs wire REFDeE ACCiDFNT

V( N;("! Ac 1 •se 1.4. 'If .e S\ C
 *

^nrau La SI'
 *

-- ;

 *
 *

The "Motorist Primary Motion" was

q t2 o.
 *

 *  * turning left, so we select Code 4,
 *

4 r. ti: l'- "Turning Left." The "Bicyclist
WNA7 PEDES IRIAN WASDO:N C

 * Primary Motion" was proceeding
D AMDES?R',AA .is r,

q 0 LJ f straight, so we use Code 2, "Going
 * Forward."

 *

e E^ ^?:Yf 1=n! -,t it lalr.t - ;!we n rCY!`+r+]  *

 *  *

 *

wm..
132 en'. .... ^..... n t

 *  *

 *

n.cori * rYrt..^ a e- cry:  * a ao.• r
Fred
c.,.,nr

r Yh wb nee b.iUe^ .re r

ni t.y
 * Proceeding down the alternatives

c,.ti.^r ( ee xo.e rro.
. ^.>le +l Or,ree., under the "Operator Action" statement,

). tbtori.t^zuv. tt,t of Dri vvr.Y N. CYC ti.t r n r^Meabr.r
All. c^.2 o

 *

ruts <r ( i D1 ocY) we find no alternative that describes
 *

ed or Entered .YCliet Nit Cla•c Lncer-§.
An-Jr ra e Li FGe 7orrt.¢

this accident, so we code "Unknown or
rkinF

Greta "bee TtsO re
s. cyc[i,[ ieevtk en^erea None of the Above," a •

stoat tr ev, -...er^.fl=
 * Unkno..N oe Non. ^( eha

Above

 *

4 OPERATOR ACTIONS  *

133

ACC!D@MT DATA DECDPDIM4 "MM

 *

. recording a zero in the fourth
1 2 3 4 5 6 1 8 column on the data recording form.

So far, we have coded 0420.
a O .,.reza-t-

 *

 *

2-2
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134

The "Accident Location" was outside
of an intersection, . . .

135
1. Parking Lot or Other Nnn-Roadway 5. intaraett inn, Oth.t

2. Inters notion Controtlnd by a b, yi ih t^'eek
Signal

C, unInoan cr P.O. of
Intoraettmon Conteolted by eTV
Stop Sign

Intersection, No Control

. so we code "Midblock," recording
 * 

a "6."

5 ACCIDENT LOCATION

136

afar' «• -^

The "Initial Approach Paths" were
parallel, same direction, with the
bicyclist initially overtaking and
attempting to pass the motorist, . . .

7 7v

137

PARALLEL FWHS CROSSING PATHS

Same n, r, .e i,-n

Same Nirert ton, . which is a Code 1 "Parallel
;- Far ting AP psnach

* Paths, Same Direction, Cyclist
Overtaking. "

O. Oak.O+tn Or None o-E the

AMtlvn

6 INITIAL. APPROACH PATHS

2-3
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138
The "Motorist Error" was eight--7 wont
"Failed to Detect Bicyclist, Other
Reason." The report indicated that
the accident happened in March at
nine p.m.--so it was dark--and the
bike was operating without a light.

CCLMT The bicyclist was reported to have
o - -

been riding on the wrong side of the
^-a<..

.:$ au^y^ red. ai e^tn^ ter. street, Iso we record a five--"Riding
t. rc Tvrn on Wrong Side of the Street" under

"Cyclist Error."

139

ACCIDENT DATA RECONDING EDRM

CODED ^..._^.... _._.:_-^....._, PAGE..^._. _. ..__..^.^..._._...R

This completes the coding of practice
1 2 3 4 5 6 7

case number two.

Now that you have had a little prac-
140 tice using the Coder's Handbook, let's

review the coding procedure. As we
mentioned, the codes in the Handbook
are arranged in precedence order. By
that, we mean that the statements and

Always work through the statements alternatives are arranged in order
and alternatives IN ORDER * 

such that the codes having low preva-
lence or more specific causes come
first. For this reason, it is im-
portant to use the first code that
applies. Never just skip down to a
code without reviewing all the codes
which precede it.

141

If there is a question on a code,
Refer to Explanations and Definitions look for an explanation of that

*

frequently. phrase in the defintions and explana-
tions sections of the Handbook.

2-4
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142
In accident coding, you will often
be using your judgment to decide

PRIORITIES what happened, based on conflicting
stories. To simplify this task, the
sources of these stories have been

FIRST - OFFICERS CONCLUSIONS ranked in importance. You should
always give first priority to theSECOND - WITNESS STATEMENTS
officer's conclusions or opinions,

THIRD - DRIVER OR BICYCLIST second consideration to the witness'
STATEMENTS statements and last priority to the

statements of the driver or rider.

Another judgment you are called upon
to make is whether the vehicles' paths
were parallel or crossing. Normally,143
any turns which immediately precede
the accident are not considered in
determining initial approach paths.
If, however, a turn was made some
distance prior to the point of impact,

 * you will have to decide whether or not
the operator was still completing
the turn at the time of the accident.
If so, the paths would be considered
crossing--otherwise, they must be
considered parallel. For example,
vehicles colliding at point one would
be considered to be on crossing paths,
while a collision at point two would
involve parallel paths.

144

Keep in mind that the diagrams in the
Handbook are just sample situations

Diagrams are only examples. which depict one way in which the
accident could occur. The diagrams
should only be used as an aid, as they
do not represent all possible situa-
tions.
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145

Now that we've reviewed the procedures,
please code two more accidents. Turn
to the third accident in the Practice
Cases Booklet. Code the third and
fourth report.

[Enter the report numbers on your coding form. Code the reports as before,
then STOP. Inform your supervisor that you have completed Section Two.
Please don't go on to Section Three until instructed to do so.]

 * 
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SECTION THREE
146

The codes for the third and fourth
:1 2 4 5 6 7 8- ."_ 1 2

reports are 03266500 and 03206280,

_L a.3.2 4.3.-5 8,t as shown.
44.9.E 0 i6.l •

147

For case number three the report

ti  * diagram depicts a bicycle riding out
of a private driveway.

148

The bicyclist rode into the path of
*

a motor vehicle which was unable to
stop in time to avoid a collision.

149
• 1. lbcoria r Cyclist Intentionally Caused the Accident

 *

• 2. officer dicated No Accident Occurred

• 3.
 *

Accident id Not Involve a Cyclist
 *

• 4. CyclistRiding a Child': Vehicle Such as a "Big Wheel" Type *

 *

vehicle, icyele or Bicycle With Training Wheals (Not Adult
 * Tricyc  * Starting with the "Exceptions," we

• S. Cyclistxltruck by Falling Cargo
 *  *

read down the statement list. None
Unknown or lbw of the Above. of them apply so we record code 0,

"Unknown or None of the Above."
If you select my of them alternatives. you are done coding the

 *

report.

3-1
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150 L2 MOTORIST PRNAARY M07ON

i. MaR ing 4. Torhiog L.tr

1. Stepped, or Branding S. Tornio Righr

1. Oo ing gorvard
 * 

The "Motorist's Primary Motion" and
3 CNt1.IST Pi ARY MOTION the "Bicyclist's Primary Motion"

were both "Going Forward."
lltpp.d aC Standing, Na Direction 4, Totning Fight

^. .o.og r-rard ^„ M11Mw .{

jhraing 4aft

3 PRIMARY MOTION

151 1

F771 F-71
t. Ibtar ^0 C 4t.mpe eai 4.` d &,.. r

^+. v ^.h 41+re -..t o.,+e r i Under "Operator Actions," we would
2• GY^'^^ apc.,e to Avr,td i. .< < .a recorda six - "Bicyclist Entered

ors

^• D ^s tLt at Driveway g. r^.:ii Yn rr .end ^+ Road From Residential Driveway or
^`At1` I

*

^rV (: ^^^b o. AncildR,rC +bDt^w R)

<. ilo [ter 4, lce<„t DiA rn^e Cl..r )M{a
Alley." The bicyclist rode out of

it.0 nr gnt bted
[hr-Str n r )%h ii.,rnt Ture.al.rk ing r.<.n for ^

r Tt.ft lc a private drive, and it is the first
1. In..! r,..... tnc.rad

^.a r we u, -rwn r Nc^n. of the description that fits this accident.
Move

4 OPERATOR ACTIONS

The code seven, "Bicyclist Entered
152

 * Road From a Commercial Driveway," the
next alternative is very similar to
this one, differing only in that the
bicyclist rode out of a commercial
driveway as opposed to a residential
driveway. In some cases, it may be
difficult to determine if a driveway
is residential or commercial. If a
store or parking lot was depicted, use
"Commercial Drive" (Code 7), while if

 *

just a house number or private drive
was indicated, as in this report, use
."residential."

153

I. Parking Lot or Ocher Non-Roadway $. inceraeet ion, Other

2. lnceraeccion Coatrottcd by a 14. Midblock
Signal

unk gown or Nonw .t
3. Intersection Controlled by a Above

Stop Sign

4. Interaectioo, No Control

 *

The "Accident Location" was not at an
intersection, so we would use "Mid-
block," Code 6.

ri

5 ACCIDENT LOCATION

3-2
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 * 

PARALLEL IMIIS CRMom RUM*
"Initial Approach Paths" were crossing

 * with motorist having the right-of-way.
1. S. Direction, Cyclist Overtaking 4. Cyclist light-of-Way Because the bicyclist was entering the

 *

2. Sane Direction, Motorist Overtaki 5. Motorist Right-of-Way road from a driveway, it was the
3. Facing Approach bicyclist's responsibility to stop and

grant the right-of-way to the traffic
already on the street." We record

 * Code 5, "Crossing Paths, Motorist
Right-of-Way."

6 INITIAL APPROACH PATHS

The next two statements, "Motorist
Error" and Bicyclist Error" should both
be coded as zero, "Unknown or None of

155 the Above."
7 B^JI A T a.n^

1. W sip or si$eel
While the motorist did not detect the

6. Driving ce wrong side
of be street

2. Misjudged r..iag soete cyclist before the accident, there is
7. Lost Cng=L

3. hi 1N ce Detect Cyclist--ste,w no indication on the report that any
or otaedLng Traffic g. tail Detect Cyclist,

other
4. swiss Wide oe lipt Turn

of the factors required for the use of
0. Unknown or sous of the

5. Ott Cetaer on Left Sete above Code 8--darkness, physical obstruction,
inattention or alcohol/drug involvement

$ C=ar 9r1oR --were present. Therefore, this code
could not be used.

1. A" gip - signal 5. Riding as W..eg side of
ser.ec

2. swing wide n Right Turn
6. Lost control of Cycl.

3. Cat Coreas on Lett to..
Although the bicyclist certainly should

0. De6non or son of the
4. Struck a Purkee Vehicle Above have stopped before entering the street,

there are no errors that specifically
apply to this accident, so we use code 0
under "Cyclist Error."

156

ycliii

This completes accident number three;
sro 19N. •3 `

^aeelr- on to number four.

°ooM~ This accident involved a. motor vehicle
S.R. 5

overtaking a bicycle at 2:40 in the
morning. The bicycle was specifically

SR 5 P dry 11 t u orthboond on SR 5.^Yrh /tv th be d described as not having a light.
iegacyrli.tndiJFI
vii 1 .Salt _. _ frvnt of Yet 91.

zhatw_rtnhe>!;_!p^l^ _

3-3
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*WHAT VEHICLES W+`FRF C,-INQ° 8EFCRt ACC#tLN

r h

_.i ( ti' i
I 00 Both vehicles were heading in the same

direction in the same lane and "Going
Straight Ahead" is checked off for both

 * 

(}xrrfr ,n^ El lt I*. :q tt°j twn parties.
t 1

•wHAT PEDESTRIAN WAS DOING Pont

{

Motatia^r Cyeilet tntentionn t ly C.,-4 he A-jd..t

Oftloer7yrd Cc.ted No Accident oceurred
We begin with the "Exceptions," asking

A-idt,^^'\id Hoc Invnlve a cyclist

Cyr liar Q?ding , Ch ild^• vehIcla Su cN +a a '*6ig Nhcel" Type
ourselves if the motorist or the

YM lc le is ycte or 114^yele N.,R Tr ainfng vh er l.• CNOC'M^tc bicyclist intentionally caused the

cyclist l *`ruck by Fa ltinR Cargo
accident, if an accident occurred,. if

Lhknovn or Mont of theof the Above. a "bicycle" or "tricycle" was involved,
and if the bicyclist was struck by

y of h.u •It.rna iv+s, you •re dont coding tb.
falling cargo. Since none of these
exceptions apply, we use Code 0,
"Unknown or None of the Above."

159
MOfORi$T -M- MOTION*

I. &acking 4. Turning Lett

 *

2. &topped, ar stand .,y
 *

igh

3. Going ro ward
 * Both the motorist and the bicyclist

were reported to have been "Going

f3- CYCLIST PRIMARY MOTION Straight Ahead," so we would code
"Going Forward" for both the motorist

t. Storped or Standing, No Di-"inn 4. 2utninit Right
 * primary motion and the bicyclist's

2• Going Forward G, Usnknwn er eo.r ofAb v primary motion.
3. 1Lraing Left

2 & 3 PRIMARY MOTION

160 a c ..g

STO 79th.
St,

h1 e The accident resulted as a motorist
overtook and struck a bicyclist.

`S.R. 5
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161 .0tio,, 1.400.
Ot 0 40c

1. Hur,v Y. wS .r Aµ .no^.0 n. cY<1,. [r0. .oaao•
fl.+,aa•.n L R vav.y
At my

♦♦♦ ///
7. fvr lvi• ,nnprasa tohdvo,H . Ro.d Tta.

v,b.t A Coo. / t tl0 iptvay None of the listed "Operator Actions"
7. Mot orv.t vo .11 f nr,rs,..y Y. CY<i i. r.1 00td 01at

or Atttv/^. Co rb nr 046.0 (Midbior4
describe this situation, so we Code

4, t000ria!bfxsicd nr y...v«e.n o. Cvetiat'h0# Yet Gt... lnt.r- 0--"Unknown or None of the Above."
on^Str ^YAr4ina 0cetvoo Floor Littbt TOrn04

S. Cy[tio[ SidtYS lk Fnt000d /
toad Fr.//f+1R^` roaY R, 0.4,000 o

Abwso

4 OPERATOR ACTIONS

162 7_4-7 5 L_1ri

Vonroe
IrA cl^^47*i^;,.ysteF, n rfft
cl(Y t iti'C A'E

DO I
pi >714CC i El Mans to S E

A a k[ ARESI TOW

Roy, H * c The "Accident Location" is 30 feet
ACUTEhT {w EJ 1-1 Haag

nrrllDRrr SR 5 n r....... >. north of an intersection which we
would code as six, "Midblock."

r7r

iv0

163 11

 * 

The "Initial Approach Paths" were
PARALLEL CROSSM FAME parallel as both parties were heading

1. Sort airrctioo, Cyclist 00.00.tiet R. Cyclist tithtof-Y.y*
in the same direction, north. Since

2. See. ai...tior, twt_ri.t 0..rtstioi S. lbtori st 0.i Rht-of-Wy the motorist overtook and struck the
3. yaciat Approach cyclist from the rear, we would code

0. gha.:+r trr .1 she number two, "Parallel Path, Motorist
Overtaking."

6 INITIAL APPROACH PATHS

164 7 6iforowsr EBBW" Under "Motorist Error," we would use
"Failed to Detect Bicyclist, Other

1. W Sip 0 Sig.ai 6. 0ri0ist 00 Wrong Side
of be street Reason." The accident occurred in

2. Yi.jdpd F-i g h o..
7. all Control

2. Failed co 0.1.01 Cyeli.t-Stow
the darkness of 2:40 a.m., and the

0r Stadia, Traffic failed to Detect Cyclist,
Other 0.0.050 bicyclist was reported not to have

4. gains Wide on Right tam
0. 0.0.- 0r Sees of the had a light.

5. 0.1 Cotes ae L.fr too. Lbe..

Although riding at night without a$ . T MW *
I light is certainly a mistake, it is

1. IY1 Sip c. Signal. S. Wide - Wpent Sid. of not listed among the alternatives
Street

2. S.i.$ Yids .. Right TO.,
6. Lost (..Opel of Cycle

under "Bicyclist Error," so we would
3. Ott Career 0 Left lase

0. 0.b_w or Sees of the code zero - "Unknown or None of the
4. Str.0k a Pasta Tabloid Ahern

Above."

3-5



165

.-7-,, 3 4--5--78
- 6

0 -, . 2, 0,( z t 6..,0_

This code completes the fourth report.
Now that you have coded two.reports
on your own, turn to report number
five and code the next five reports.

[Enter the report numbers on your coding form, code all five reports, then
STOP. Inform your supervisor that you have completed Section Three. Please
don't go on to Section Four until instructed to do so.]

        *

        *

        *

        *

        *

        *

        *

        *

        *

        *

        *

        *



SECTION FOUR




        *

SECTION FOUR
166

ACCIOCNY MYP NCCOHDING rOPM

This slide shows the correct codes fors s i s „ :^. z
reports five through nine. We will

r 8 briefly review the five accident
reports and their respective codes.

Y 10 .s .z-,C' , 6 ,9 . o
S 0 / .2 13 13, 6/,e o

G.. __._10_z_20^`J^.! p_.r Code for report number five should be
_Zo S,-2 .0 j3 ..Y. B 5 01233480.

167

Report number five shows a car backing
 * onto Church Street from a private

drive into the path of a southbound
bicycle.

q, rAl" ft,

168

*

The model of the situation looks like
this.

* I. MororistXpr Cyclist Intentionetly Cau*od the Accident  *

* 2. C11ve',e/^ medicated No Accident Occorrod

* 3. Acrid- d Not involve a Cyci ion  *

* 4. Cy-at Riding a Child's Vehicle Soch a* P "Big Whorl" Type

Vah ie le it yc to oe bieyc le With Training Wheei* (Not Adult
 *

Tricyc )
 * None of the "Exceptions" apply to

* S. Cytli*t W>a ^Strugb by Felling, Cargo  *

 * this situation, so we would record
0. Unknown or None of the Above

a zero.

 *

If you select any of there alternatives, you are done codv'R t
report.

4-1
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170

"Motorist Primary Motion" is Code 1,
"Backing," because the motorist is
backing out of a driveway. The

ate. &4r(
 * "Bicyclist Primary Motion" is forward,

so we use Code 2, "Going Forward."

re-,ft- upirr

`'
, xWk^ c^,cctc_._ .0-5 ^ 3sr- w

171

The motorist is entering the road
*

from a driveway, so under "Operator
Actions" we select Code 3.

172'
!j LQC pF akkt¢a pom•Itead¢ag y, [at a:: ngzt>a^ Ot hrr

2. tm. rr.eai.ra Coatruiked by u 6. Y, an :.,.. ..

N. VnkttUw .. lb.. .[ aali
1. 1 .^cc c.,.^ {:;,¢Crtrl FgB by n AAov

S(oPrSi qn

4. Int orscat ^cxv, o Control The location is within an intersection
controlled by a stop sign, so we would

 *

use Code 3, "Intersection Controlled
by a Stop Sign," under "Accident
Location."

5 ACCIDENT LOCATION

173 t ei 1

The initial paths of the motorist and
I' ^^. nt.. r<:..n, C^^. t_.Y C^verc 4, 4yit ^.t }i((T[-o[-1i.y bicyclist were crossing, not parallel,
1. 6i< Di raft io cfotri.t thrrc.k tp^. 5, ^t.^r ^.t Rttrt^^r-4.y

 *

^•
so we would use "Crossing Paths" and,

!sing approach

because the motorist was entering the
road, we use Code 4 "Crossing Paths,
Bicyclist Right-of-Way."

UTML ^PPRO^LCH PATHS

4-2
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174 j Wars( eMOe

The "Motorist Error" is Code 8 --
1. San Sip 0r Oigul t. Driving an Yro.S side

.f the Strut
2. Si.jdgd taaat.s Sp.u

"Failed to Detect Bicyclist, Other
7. bat Central

2. Sailed to Strut C7eliat-Stop Reason." The narrative indicates that
or St.dt.$ Traffic S. Tailed to Datec. Cyeli.t,

Dohs a-..u the motorist failed to ascertain
4. Owing lid. u Sight Tarn

0. 9.4.o.. or 0- at the
5. Gat Career an taft Turn .Nor.

danger which is taken to mean that
 * 

he/she was careless or unattentive.
The cyclist is not reported to have8 cajsr mm
made any errors, so we code 0 -

1. Y. Sip or Signal S. Wing on wraps Sid. of "Unknown or None of the Above" under
Strut

2. Swing Visa an Right Tarn
^0. Loaf Central at of 0a "Bicyclist Error."

3. Gat Co.... u Left Tan
0. nlmows 0< leen of the

4. Struck a Parked V bicl. Yoe

311.1,11-

t 2 3 4

t F, ,-,-I The correct code for report number
S o v j

six is 02204100.0 3 ^, o,6 2,8U

-2 .0 3.y.&.5"

0 .3 -2.Y -7 O O

176

t .Yw o
S 51 /.'

* Report number six is somewhat more
 *

 *
difficult, because there is no diagram.

 * The narrative, however, indicates that
both vehicles were proceeding south

rrhltle SI eaad.d South an 0.17, Pedal ellet r hedaa•south en S.-1S. Vehicle 01 and that the car was stopped, making
 *

.copped few a left turn and pd.1afeltalt eollldat w1M .o.. of eMlala S1. a left turn.

177

The models give us an idea as to how
the accident occurred. We start with
the "Exceptions," coding 0 as none
apply.

4-3
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'WHAT VINI01 Will DOING 101011 ACCIDINI

W.rll N 1 091]Omia__.....^......^
SR-Q R1130 o...._YS ............ ....... a............

I^ 1^ 1 1 I 4f q a.lw Arr
q ®nw rY.Pl vv/ q Qa+w .l.I- q QIIY.we a." 5E Onww. ar

Q Qo•w.+ 0 Oreweni q OoISW 0 0 oar nww. n
'WHAT PIDIIIIIAN WAR DOING - - py

The "Motorist Primary Motion" is
0 .we

NOlllNU rw ww q OO^ q ww.. Yr .^:Cw:^:^t^...Y..... ......... r 0 shown on the report as "stopped."
O Gw.y w.w,w4w 0lI i»1, naS rrN.e O aa"Iw MVwk. QNwq».v.W

^ Gw,w,w w Y.wMYw
The cyclist was listed as "Going

p awA,.,.r.w 0 ewrw w w-. 00--i,

q Y,'•'M+.rMw •.^. Ywur 0 II.s.1»NIM rw  * QNYw. w.wwrwwa QYw.wr.w Straight Ahead."
q •,+N-.v.,r .,Inw1 Y.A. 0or' IIY^w»w.w 0Sewwlw.,.ww 0---

ACCIDINI LK.t»LtMmID. 1 lOAD 011100 0 TIAINC.AI C.AAACIUI

-.- NAdtl I I.//scull. I RON 00110,1, UYtI

' ^I0oo (0111Cl Ion locAla Ywlp1 (000115

- None
z

179179 2 MOIORIS, wa w M011cw

1. Sacking 4. Torn S Left These would be Code 2 under "Motorist
2. Stopped, or Standing 5. Turning Right

Primary Motion" and Code 2 under
3. Going F.-rd 0. Pakewb ov ate.

"Cyclist Primary Motion." Notice
that we used "Stopped/Standing"

3 cvmw Pwaw M17110N J rather than "Turning Left" which also
applies to the vehicle motion. This

41. Stopped or Standing, No Direction 4. Turning Right is because "Stopped/Standing" comes
2. Going Parvard r ►e first on the list of alternatives.
3. Turning Left

2 & 3 PRIMARY MOTION

180 EiLl
1. Motorist a yelisc Attaspted 6. Cyclist ED ed Road Pros

Eveaive Act' s Which Were Residsotia ivevay or
Counteract' a Allay

2. Cyclist Act ted to Avoid 7. Cyclist ED ed Road Pros
Obstruction A Cou.rci ivevay

3. Notorist Drdlk Out of Driveway 8. Cyclist Ent d Road Over
or Alley ^^' \\\ Curb or Sh r (Midblock) None of the "Specific Operator Actions"

4. Motorist Ezx%A or Entered 9. Cyclist Dtt Clear IDter- is mentioned in the report, so we use
On-Street P R sact ion Sef a Light Turned

Groan for r Traffic Code 0, "Unknown or None of the Above."
S. Cyclist oD walk Enured

Road Pros ,V walk 0. Unknown or None of the
Above

4 OPERATOR ACTIONS

181

*

The "Accident Location" is listed as

 *
an intersection. The traffic control
box in"the report indicates "none,"
so we use Code 4 - "Intersection - No

11o jo Control."

The "Initial Approach Paths" are both
listed as south, so we would use

 *
"Parallel Paths."

 *

4-4
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182'

Because the bicyclist came from behind
 * the motorist, and was traveling faster

than the car, . . .

183

PMgALLE1 RQI$ CF XWW RQHS

1. S. Direction, C7clia overtaking 4. Cycli t light-of-Way

2. Z. Dir.ttion, Metnri.t Overtaking* S. Motorist xinht-of-V., . . Code 1, "Parallel Paths,
3. hci.i Approach Bicyclist Overtaking," is the correct

alternative.

6 INITIAL APPROACH PATHS

"Motorist Error" is Code 0, Unknown or
184 T ^any+s, ftwae, None of the Above" because the motorist

was not reported to have made any
r. .. • u ,..•n .}.sees r... . ow... errors. None of the "Bicyclist Errors"

listed under statement eight are indi-

^D, ntr^.,...^ .,r .on. of c^.
cated on the report, so we would use

1at Cuc^x. ♦ on i. f, ryrw Apw. Code 0 - "Unknown or None of the Above,"
here as well. Note that Code 4, "Struck

8 cicausr
 *

^
a Parked Vehicle," should not be used

Mae Us. oc Sft^•t 3. t•d•n. on !hoot 9,d. of for this accident, since that code only
1 Nx..c

 * 6. ta.c Cant.ot el C^cl•
applies if the bicyclist strikes a

Wt COfn.r On US2 Th[n
0. Unkno•n, x .Me of of . parked, empty vehicle. If the vehicle

^• !tract . r. rk.d veh Sc l• A4u^.e

has a driver, we will assume the car
is not parked.

185
D/3 fG

3 __

3 ^
 *

Now, report number seven. Correct
codes are 05203485.

4.5
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1861

 *

 *

 * 

This accident occurred after a car
*

 *

stopped at a stop sign, then turned
 * right into a one-way street, striking

 *

v I ^
 *

a bicyclist who was riding the wrong
r'

 *

way on a one-way street.
- '7' ^*

 *

 *

L
 *

 *  *

- t 1
 *

187

 *

This is a model of the accident

 *

situation.

 *

 *

 *

188 'WHAT V&HICE WE DOING BUORq ACC1D NI

YEe,CEE M I . uti

YCX!CLE ►,ehI, aN• /i- e" PA S- None of the "Exceptions" apply, so
we code zero in column one of the

T T

D
T T data form.some III q ww., ithr

o ww., left,.,.
we

O O oknr.w., q
 *

'WHAT PEDESTRIAN WAS DOING The "Motorist Primary Motion" was
0 AID

!IOEST1Ifi -U ,ow, Ives. W, "Turning Right," and the "Bicyclist
q O0q q

Primary Motion" was "Going Forward,"
q GftfM, .1 bit n.Ilta 0 Arq.9 ,j'I Venuk so columns two and three are Codes
^, Gsu., gal N IN.net..a

5 and 2.
[j a,nt., u m.c.., _ .,a o+rec

o VS %-I .. v.d.q _ .,uml lUrht 0I,,..,. t:..l..1,...N

188'

[,

Wv^^

tV d

a.n^l Driv
None of the "Operator Actions" seem

rr ,^``

 *
to describe the accident accurately,

tnranl o.:k

'. ^• rotor.. t.a . .ot Cl..r
so we use Code 0 - "Unknown or None

On-Srrrk^n^ .e^ < Lt .f Su o.. of the Above."
Cpcli.r Sid,
foal )r . Y -^ 0. llnen<.Vn er rtone o.t Cb.

Above

4 OPERATOR ACTIONS
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190

The "Accident Location" was an
"Intersection Controlled by a Stop
Sign" - Code 3. Remember, in order
to use one of the intersection codes,
the accident must have occurred within

 * 

the center of the intersection, as
this accident did, . . .

191 VIL, 4P

C fk ST'^,y ^r J

of ^
*

^
. . . or within the crosswalk.

yR^

192
1-1 1

ar

tc, The "Initial Approach Paths" were
 *

crossing and, because the motorist
had a stop sign, . . .

193`":_
 *

 *
 *

. . . the bicyclist had the right-
of-way. We would use Code 4,

oN!lCltor, ^LOt K aar[rk,at s. +acar{r,c.it .,'"#
Crossing Paths, Bicyclist Right-of-

F ^r Way" even though the bicyclist was
riding the wrong way.

_APPROACH M

4-7
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194
,.oroaesr

The motorist was charged with "Careless

T. i^.r c•^t •.r , Driving" and was reported to have
J. e.i1N to M:. i.r- `r^tiWd

or. *d+x tr.^f
,dti.. .oe< CT.1 t.c, "Failed to Have Ascertained Safety,"

fi f which we would interpret as "Failed to
Detect Bicyclist, Other Reason," Code 8.

 * 

CnxasT ew-M

The bicyclist was riding the wrong way
^.^- 4..G.. ar Srtn.l s. .•e^s o., vT^a sew of

6c r.ec on a one-way street, which is a Code 5,
^ Ari.^ Yi S. wa .r{At Turn

"Riding Wrong Way."
o. a.r.o•.r. o. w...t ^.. ^

Mbv. 'n•Nrr^rk . e.rkaa r.e rc l+

195

Z
^.^ 0 3 a o

8s So the correct codes for report seven0
are 05203485. Next, report eight.

SDO The correct codes for report number
*

eight are 03201500.

 *

 *

1961 VEH1Ct[S WERt OOING BtFORE ACCIOtNT
Li L] c, - P"_7hl 1Xfl• l rbt Inns 4 1

1';,-t - r -.d q t1'bk otm 4, This accident occurred in a,public
('-^

j [7,1
 *

parking lot. The car was pulling
f( (roIAAJ V1Se nn I..,n into the parking lot as a bike was

1 1 q
riding across the lot . . .

Ej LI Q q Af,013 a f.En::-•--••---

inn, ,, h if )tc'. rT 'rr-,, rwb DI Vt4i: Ve I 4e1 61 %tJ j

[] SUM` t r.4llch :-t L.. ] pvl^+,n i

 *

. . . as modeled in this picture.

 *

4-8
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198 LAC MOT 61ST PFWUARV MOTION

1. yttiwf 4. Turnol -f,

2- stspY.d. or aural,, S. Tarn ..... Sight A review of the "Exceptions" reveals
f.t.t rorv..a O, VWL.mkp that none apply to this situation, so

we code zero. The motorist and the
bicyclist were both going straight

4 fisT PAMiAAY MOTION
and forward so we would use "Going

pr ,tali... a. airsction k. Turning aiaht Forward" for both of them--Codes 3
and 2 under Motorist and Cyclist
Primary Motion Statements.

1991 flan. wrnsd r,.a I., the y,l,., h'ia s kn ¢necr.4 ,fie ,n,,,,

t s i i (_, y i `` 1

t, a.tort. nd cyc l4at At n,r, rd k, Cyc tt rea eo.d Fries
rvaalvv a which were avs,dti 1 nrivev.y or
coca,. ^^` ^^,t n Alley

T• Cyclist yt,n.pR rd co Acrid t. Cyclitk aced &a as Yraa
tJb,trurtl_\„ a nag Crlvew.y

T, Sutori.t ve Out of nr i vcvay S. Cycllat terra load over
or Alt. Curb o eider (Midbleek)

 * 

Satan tad Ot Enteral 1. .yell.[ apt Cleat tots,
None of the "Operator Actions" codes

.ct ion n Light Tura.d0n-$„ t rkina
Cr..eher T-ft,c apply, so Code 0 is used here.

cyc7iaC ai da lk Eae.rnd
seal Ft nown or seta of rhoI.vew.e

Abov e-4110 C. Vok J
OPERATOR ACTIONS

Zoo

* The "Accident Location" is Code 1 -
"Parking Lot or Other Non-Roadway."

1. Parking Lot or Other This code is to be used whenever the

Non-Roadway Location point of impact is not on a road. If
you have a question as to whether a

 * location qualifies as non-roadway,
refer to the explanation in the
Coder's Handbook . . .

201' 1 STATEMENT 55 DEFINITIONS & DIAGRAMS

This statement describes the location of the operators when then
collision occurred, i. , the point of impact. I

ALTERNATIVE 1. Parking Lot or Other Non-Roadway Location a . which says that typical non-
 *

The accident occurred in a parking tot or in a non-roadway roadway accidents occur in locations
location. such as a gas station, alley, tot, private property
a ballfield. such as gas stations, alleys, on

private property or in ballfields.

ALTPRNATIVP 2. Intersection Controlled by a Signal

The point of impact was within the center of the intersection.
a crosswalk (marked or unmarked), which was controlled I
amber-green signal (not a flashing light). ,

4-9
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w UUJAL wars cAOSSM walls

1. Sae Direction. Cyclist overtaking 4. Cyclist Right-of-Way The "Initial Approach Paths" were
2. Sees Direction, motorist overtaken 5. Motorist Right-of-Way crossing and the motorist appears to
3. Facing Approach have the right-of-way since he was

        * driving in the "in" lane and the
A. aeo-sk visas at

Ales" s cyclist was on the parking lanes.
So, we use Code 5.

6 INITIAL APPROACH PATHS

203 ^ (7 ka*owst
        * R         *

        *         *

        *         *

        *

        * Finally,, under "Operator Error,"
4. 9i+tnR vitle

        *

pigni Tern y
        *         *

neither operator is reported to
- heft hrn --

have made one of the errors listed,
so we would use zero "Unknown or8 ccusr Boa 5

        *

None of, the Above" for both Statement
Ran sites or siRn.l 9, R14i.

5cceat Seven and Eight.
firing Vidc un Ri;ht TUr.

6. tn.t GYntrOL u: .vclc

Cut Corn.T on Left T.I.
6. gak.Oxfi .t Hn...t x.^e

Ab-S[rutR a Forked Vehicle

204         *

ACCTUi'. NT 0410 Iii'CUH0ING FOAM
        *

        *

ter. ..^^F 2 3
5 6..-77 & ..,,r..A

        *

        * 2..f 0°         *

Going on to report nine, the codes
        *

{
        *

        *

are 03292500.
        *

        *

-S--.2 aL ..y.9.5"
        *         *

n,s,2-9 ,2vS- o,o
        *

205

This accident occurred when a
bicyclist entered an intersection as
the light turned yellow.

4-10
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206
 * 

Before the bicyclist crossed the
interesection, the light turned red
for the bicyclist and green for the
motorist. The motorist pulled

* forward, striking the bicyclist.

207

The "Exceptions" are coded as zero.
Both the motorist and bicyclist were

3. Going Forward going forward and should be coded
as that under Statements Two and
Three.

208 The "Operator Actions" code is 9 -
"Bicyclist Did Not Clear Intersection

1. Motorist and Cyclist Attempted 6. Cyclist Entered Road From
Evasive Actions Which Were Residential Driveway or Before Light Turned Green for Other
Counteractive Alley

Traffic." This is the code to use
2. Cyclist Attempted to Avoid 7. Cyclist Entered Road From

Obstruction a Commercial Driveway when a bicyclist entered an inter-
3. Motorist Drove Cut of Driveway 8. Cyclist Entered Road Over

or Alley Curb or Shoulder (Midblock)
section on a yellow light, or at the

4. Motorist Exited or Entered 9. Cyclist Did Not Clear Inter-
end of a green phase and doesn't make

On-Street Packing section Before Light Turned
Green for Other Traffic

it across the intersection before-the
S. Cyclist on Sidewalk Entered

Road From Driveway 0. Unknown or None of the light changes and the cross traffic
Above starts to move. This code is not to

be used, however, if a bicyclist
4 OPERATOR ACTIONS entered an intersection on a red light.

209

 * The "Accident Location" is "Intersec-
tion Controlled by a Signal," Code 2.

4-1 1



210

The "Initial Approach Paths" are
crossing. The bicyclist initially
had the right-of-way to enter the
intersection before his/her light
turned red. So, we use Code 4,
"Cyclist Right-of-Way."

211
The motorist didn't detect the bicy-
clist before proceeding into the

of tAe tt t..<
Mi.jy.t.. t...int S..c•

n poi
intersection, but Code 8 does not

A ti.^ to D.t.ct Rrcli.t_.Sttp..d

apply since the report doesn't indi-
O•n.r XI1. aet

wt•t +(4. .i.ht Trn

0, n^no.m or .on. of the cate that any of the factors neces-
^' «' ^^.4.t ow t+ft Tu to Ab ov.

sary for this code were present. So,
we use Code 0 under "Motorist Error."

        *

t'• V.^. ar tidn.l ^, .3dt eb oo Won; si ue of ^^

4¢[sa
The bicyclist did not "run" .the

0."1 4id. on Rio, Tarn

6, to.x c.otva2 at cyet. signal, as he entered the intersection
dt C--- y.ft Tote

0. Fnkn.*+n on boa. of ttte on the yellow. So, we would use Code
attack .Y. rldYhisA.

0 for "Cyclist Error."

[Inform your supervisor that you have completed Section Four. Please don't
go on to Section Five until instructed to do so.]

        *

        *

        *

        *

        *

        *

        *

        *



SECTION FIVE




SECTION AVE


212 

SUMMARY DIRECTIONS 

•ar each .eaident report: 

f.­ Study the repast. 

2. Neal sec", atateaent in order.


). Q Ile, the first aicernac the that appt tea under each heading.


4.­ place [he cafe ntsber of the alberost toe nn the proper cotta of 
the lat. Ears. 

5.­ Avoid using the .hadad "Ueknewe or None of the Aboee" codes. 

During this Section, we'll first 
review the coding procedures and then 
you'll code a group of 25 accident 
reports. 

Before beginning to code, read the 
accident report completely. Read the 
narrative then the "Fill in the 
Blank" items. Study the diagram. 

213 • Bicycle/Motor Vehicle accident? 

• Paths crossing or parallel? 

• Intersection or midblock? 

• Traffic controls? 

• On or entering road? 

• Operators actions? 

• View obstructed? 

• Operator errors/citations? 

In addition to determining generally 
what happened in the accident, 
determine the following information 
from the report: 

Did the accident really involve a 
motor vehicle and a bicycle or 
adult tricycle? 
Are the initial paths crossing or 
parallel? 
Did the accident occur at an 
intersection or midblock? 
If at an intersection, what traffic 
controls were present? 

.­ Were both operators on the road or 
was one entering the road? 

.­ What were the operators actions-­
going straight, stopped, turning? 
Was the operator's view obstructed 
by standing traffic, other physical 
obstructions, darkness? 

.­ What citations were issued, or what 
errors did the operators make? 



214 

Always work through the statements 

and alternatives IN ORDER 

215 

Avoid using the shaded "0" alternatives. 

216 

Diagrams are only examples. 

Once you have a good understanding of 
how the accident occurred, begin 
coding by reviewing the "Exceptions." 

After coding a number of reports, you 
will have a tendency to "skip" the 
exceptions. Avoid this error. Always 
review each statement and the alterna­
tives under each statement in order. 

As you code, attempt to avoid the 
shaded -"'Unknown or None of the Above" 
choices, unless you have little or no 
information. Recording these zero 
codes often leads the computer to 
assign the accident to an "Insufficient 
Information" category, which tells you 
very little about that accident. The 
zero codes which are not shaded may be 
used freely. 

Keep in mind that the diagrams on the 
explanation pages are just examples 
of the type of situations for which 
the code applies. They should not be 
considered the only way the situation 
can occur. 



217 

Refer to Explanations and Definitions 

frequently.­

Whenever you have a question as to 
the applicability of a code, refer to 
the explanation of the code above the 
statement for a more detailed descrip­
tion of its use. Also, refer to the 
definitions page. 

[Now turn to report number ten and code the remaining 25 reports in the 
Practice Cases Booklet. When you have completed the coding, STOP. Inform 
your supervisor that you have completed Section Five. Please don't turn the 
page for the correct answers until instructed to do so.] 
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        *

The correct codes for the 25 reports you have just coded are given below:

Report No. Accident Code Report No. Accident Code

10 05202100 23 01236480
11 03266560 24 03206280
12 04205380 25 03202501
13 03202501 26 04204105
14 04206100 27 03303300
15 02206100 28 03206206
16 4 29 02203100
17 03234480 30 04203480
18 03303300 31 04205550
19 05206180 32 03206280
20 03206306 33 03201500
21 03206200 34 03206206
22 03203480

Any cases on which your codes disagreed with the correct codes should be
discussed with your supervisor and other coders. You may have skipped
over the "Exceptions," chose the wrong initial approach path, or failed
to exactly follow the coding procedure. You may have missed an item of
information on the report. Discussion with your supervisor and other * 

coders is an excellent way to sharpen your coding skills.

If you disagreed with the codes on ten or more of the 25 cases, you should
review the training program and recode the practices cases before beginning

to code reports from your area.
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